

MEAN THEORETIC APPROACH TO A FURTHER EXTENSION OF GRAND FURUTA INEQUALITY

MASATOSHI ITO AND EIZABURO KAMEI

*Dedicated to Professor Kichi-Suke Saito
 on his 60th birthday*

(Communicated by M. Fujii)

Abstract. Very recently, Furuta has shown a further extension of grand Furuta inequality. In this paper, we obtain a more precise and clear expression of Furuta’s extension by considering a mean theoretic proof of grand Furuta inequality. Moreover, we get a variant of Furuta’s extension by scrutinizing the former argument.

1. Introduction

Throughout this paper, A and B are positive operators on a complex Hilbert space, and we denote $A \geq 0$ (resp. $A > 0$) if A is a positive (resp. strictly positive) operator.

As an extension of Löwner-Heinz theorem “ $A \geq B \geq 0$ ensures $A^\alpha \geq B^\alpha$ for any $\alpha \in [0, 1]$,” Furuta inequality was established in [8] (see also [2, 9, 12, 18, 20]).

THEOREM A. (Furuta inequality [8]) *If $A \geq B \geq 0$, then for each $r \geq 0$,*

$$(i) (B^{\frac{r}{2}} A^p B^{\frac{r}{2}})^{\frac{1}{q}} \geq B^{\frac{p+r}{q}} \quad \text{and} \quad (ii) A^{\frac{p+r}{q}} \geq (A^{\frac{r}{2}} B^p A^{\frac{r}{2}})^{\frac{1}{q}}$$

hold for $p \geq 0$ and $q \geq 1$ with $(1+r)q \geq p+r$.

THEOREM B. ([3]) *Let $A \geq B \geq 0$ with $A > 0$. Then*

$$f(p, r) = A^{-\frac{r}{2}} (A^{\frac{r}{2}} A^p A^{\frac{r}{2}})^{\frac{1+r}{p+r}} A^{-\frac{r}{2}} \tag{1.1}$$

is decreasing for $p \geq 1$ and $r \geq 0$.

Mathematics subject classification (2010): 47A63, 47A64.

Keywords and phrases: Positive operators, operator mean, Furuta inequality and grand Furuta inequality.

For $A > 0$ and $B \geq 0$, α -power mean \sharp_α for $\alpha \in [0, 1]$ is defined by $A \sharp_\alpha B = A^{\frac{1}{2}}(A^{-\frac{1}{2}}BA^{\frac{1}{2}})^\alpha A^{\frac{1}{2}}$. In this paper, we use this operator mean as our main tool. We remark that the operator mean theory was established by Kubo-Ando [19].

It is known that α -power mean is very useful for investigating Furuta inequality. As stated in [18], when $A > 0$ and $B \geq 0$, Furuta inequality can be arranged in terms of α -power mean as follows: If $A \geq B \geq 0$ with $A > 0$, then

$$A \geq B \geq A^{-r} \sharp_{\frac{1+r}{p+r}} B^p \quad \text{for } p \geq 1 \text{ and } r \geq 0.$$

Similarly, (1.1) can be rewritten by

$$f(p, r) = A^{-r} \sharp_{\frac{1+r}{p+r}} B^p. \tag{1.1'}$$

In [10], Furuta has shown an extension of Furuta inequality, which is called grand Furuta inequality (see also [5, 7, 11, 12, 13, 16, 21, 22, 23]). We remark that grand Furuta inequality is also an extension of Ando-Hiai inequality [1] which is equivalent to the main result of log majorization, and we are also discussing Furuta inequality and Ando-Hiai inequality in [4, 6, 17].

THEOREM C. (Grand Furuta inequality [10]) *If $A \geq B \geq 0$ with $A > 0$, then for each $t \in [0, 1]$ and $p \geq 1$,*

$$F(r, s) = A^{-\frac{r}{2}} \{A^{\frac{r}{2}}(A^{-\frac{t}{2}}B^pA^{\frac{t}{2}})^s A^{\frac{r}{2}}\}^{\frac{1-t+r}{(p-t)s+r}} A^{-\frac{r}{2}}$$

is decreasing for $r \geq t$ and $s \geq 1$, and

$$A^{1-t+r} \geq \{A^{\frac{r}{2}}(A^{-\frac{t}{2}}B^pA^{\frac{t}{2}})^s A^{\frac{r}{2}}\}^{\frac{1-t+r}{(p-t)s+r}}$$

holds for $r \geq t$ and $s \geq 1$.

By putting $\beta = (p - t)s + t$ and $\gamma = r - t$, we can arrange Theorem C in terms of α -power mean as follows [5]: If $A \geq B \geq 0$ with $A > 0$, then for each $t \in [0, 1]$ and $p \geq 1$ with $p \neq t$,

$$\hat{F}(\beta, \gamma) = A^{-\gamma} \sharp_{\frac{1+\gamma}{\beta+\gamma}} (A^t \natural_{\frac{\beta-t}{p-t}} B^p) \quad \text{is decreasing for } \beta \geq p \text{ and } \gamma \geq 0,$$

and

$$A \geq B \geq A^{-\gamma} \sharp_{\frac{1+\gamma}{\beta+\gamma}} (A^t \natural_{\frac{\beta-t}{p-t}} B^p) \quad \text{for } \beta \geq p \text{ and } \gamma \geq 0, \tag{1.2}$$

where $A \natural_s B = A^{\frac{1}{2}}(A^{-\frac{1}{2}}BA^{\frac{1}{2}})^s A^{\frac{1}{2}}$ for a real number s . (If $s \in [0, 1]$, then $\natural_s = \sharp_s$.)

Very recently, Furuta [14, 15] has dug for a further extension of grand Furuta inequality, which is the following Theorem D. We call this ‘‘FGF inequality’’ here.

THEOREM D. (FGF inequality [14, 15]) *Let $A \geq B \geq 0$ with $A > 0$, $t \in [0, 1]$ and $p_1, p_2, \dots, p_{2n-1} \geq 1$ for natural number n . Then*

$$\begin{aligned}
 G(r, p_{2n}) &= A^{\frac{-r}{2}} \left[A^{\frac{t}{2}} \left\{ A^{\frac{-t}{2}} \left\{ A^{\frac{t}{2}} \dots \left(A^{\frac{-t}{2}} \left\{ A^{\frac{t}{2}} \right. \right. \right. \right. \right. \right. \right. \\
 &\quad \left. \left. \left. \left. \left. \times \left(A^{\frac{-t}{2}} B^{p_1} A^{\frac{-t}{2}} \right)^{p_2} A^{\frac{t}{2}} \right\}^{p_3} A^{\frac{-t}{2}} \right)^{p_4} \dots A^{\frac{t}{2}} \right\}^{p_{2n-1}} A^{\frac{-t}{2}} \right]^{p_{2n}} A^{\frac{r}{2}} \left] \frac{1-t+r}{q[2n]-t+r} A^{\frac{-r}{2}} \quad (1.3)
 \end{aligned}$$

is decreasing for $r \geq t$ and $p_{2n} \geq 1$, and

$$\begin{aligned}
 A^{1-t+r} &\geq \left[A^{\frac{t}{2}} \left(A^{\frac{-t}{2}} \left\{ A^{\frac{t}{2}} \dots \left(A^{\frac{-t}{2}} \left\{ A^{\frac{t}{2}} \right. \right. \right. \right. \right. \right. \right. \\
 &\quad \left. \left. \left. \left. \left. \times \left(A^{\frac{-t}{2}} B^{p_1} A^{\frac{-t}{2}} \right)^{p_2} A^{\frac{t}{2}} \right\}^{p_3} A^{\frac{-t}{2}} \right)^{p_4} \dots A^{\frac{t}{2}} \right\}^{p_{2n-1}} A^{\frac{-t}{2}} \right]^{p_{2n}} A^{\frac{r}{2}} \left] \frac{1-t+r}{q[2n]-t+r} \quad (1.4)
 \end{aligned}$$

holds for $r \geq t$ and $p_{2n} \geq 1$, where

$$q[2n] = \left(\left\{ \dots \left((p_1 - t)p_2 + t \right) p_3 - t \right\} p_4 + \dots + t \right) p_{2n-1} - t) p_{2n} + t.$$

In this paper, we obtain a more precise and clear expression of FGF inequality by considering a mean theoretic proof of grand Furuta inequality. Moreover, we get a variant of FGF inequality by scrutinizing the former argument.

2. FGF inequality

It is known that the following Lemma 2.1 plays an important role in the proof of grand Furuta inequality (1.2).

LEMMA 2.1. ([5]) *Let $A \geq B \geq 0$ with $A > 0$. Then*

$$A \geq B \geq \left(A^t \natural_{\frac{\beta-t}{p-t}} B^p \right)^{\frac{1}{\beta}}$$

holds for $t \in [0, 1]$, $\beta \geq p \geq 1$ and $p \neq t$.

For convenience, we prove this lemma given in [5].

Proof. We may also assume that B is invertible. Let $[p, \beta]$ divide into $p = \beta_0 \leq \beta_1 \leq \dots \leq \beta_n = \beta$ such that $1 \leq \frac{\beta_i - t}{\beta_{i-1} - t} \leq 2$. Let $B_0 = B$ and $B_i = \left(A^t \natural_{\frac{\beta_i - t}{p-t}} B^p \right)^{\frac{1}{\beta_i}}$ for $i = 1, 2, \dots, n$. Then we show

$$B_{i-1}^{\beta_i} \geq B_i^{\beta_i} \text{ for } i = 1, 2, \dots, n \quad \text{and} \quad A \geq B \geq B_1 \geq \dots \geq B_n. \quad (2.1)$$

First, we can show $B^{\beta_1} \geq B_1^{\beta_1}$ as follows:

$$\begin{aligned}
 B_1^{\beta_1} &= A^t \natural_{\frac{\beta_1 - t}{p-t}} B^p = B^p \natural_{\frac{p - \beta_1}{p-t}} A^t = B^p \left(B^{-p} \sharp_{\frac{\beta_1 - p}{p-t}} A^{-t} \right) B^p \\
 &\leq B^p \left(B^{-p} \sharp_{\frac{\beta_1 - p}{p-t}} B^{-t} \right) B^p = B^{\beta_1}
 \end{aligned}$$

since $1 \leq \frac{\beta_{k+1-t}}{p-t} \leq 2$ and $t \in [0, 1]$.

For some natural number k such that $k \leq n - 1$, assume that $B_{i-1}^{\beta_i} \geq B_i^{\beta_i}$ for $i = 1, 2, \dots, k$. We note that $A \geq B \geq B_1 \geq \dots \geq B_k$ is easily obtained by Löwner-Heinz theorem. Then we obtain

$$\begin{aligned} B_{k+1}^{\beta_{k+1}} &= A^t \natural_{\frac{\beta_{k+1-t}}{p-t}} B^p = A^t \natural_{\frac{\beta_{k+1-t}}{\beta_k-t}} (A^t \natural_{\frac{\beta_{k-t}}{p-t}} B^p) \\ &= A^t \natural_{\frac{\beta_{k+1-t}}{\beta_k-t}} B_k^{\beta_k} = B_k^{\beta_k} \natural_{\frac{\beta_k-\beta_{k+1}}{\beta_k-t}} A^t = B_k^{\beta_k} (B_k^{-\beta_k} \natural_{\frac{\beta_{k+1}-\beta_k}{\beta_k-t}} A^{-t}) B_k^{\beta_k} \\ &\leq B_k^{\beta_k} (B_k^{-\beta_k} \natural_{\frac{\beta_{k+1}-\beta_k}{\beta_k-t}} B_k^{-t}) B_k^{\beta_k} = B_k^{\beta_{k+1}} \end{aligned}$$

since $1 \leq \frac{\beta_{k+1-t}}{\beta_k-t} \leq 2$ and $t \in [0, 1]$, so that the proof is complete. \square

Next we show that a sequence $\{B_i\}$ such that $B_i = (A^t \natural_{\frac{\beta_{i-t}}{\alpha_i-t}} B_{i-1}^{\alpha_i})^{\frac{1}{\beta_i}}$ is decreasing. Theorem 2.2 is a key result in the proof of FGF inequality.

THEOREM 2.2. *Let $A \geq B \geq 0$ with $A > 0$ and n be a natural number. Then for $t \in [0, 1]$, $\beta_i \geq \alpha_i \geq 1$ and $\alpha_i \neq t$ for $i = 1, 2, \dots, n$,*

$$A \geq B \geq B_1 \geq \dots \geq B_{n-1} \geq B_n,$$

where $B_0 = B$ and $B_i = (A^t \natural_{\frac{\beta_{i-t}}{\alpha_i-t}} B_{i-1}^{\alpha_i})^{\frac{1}{\beta_i}}$.

Proof. By applying Lemma 2.1 to that $A \geq B \geq 0$ with $A > 0$, we have

$$A \geq B \geq (A^t \natural_{\frac{\beta_1-t}{\alpha_1-t}} B^{\alpha_1})^{\frac{1}{\beta_1}} = B_1$$

for $t \in [0, 1]$, $\beta_1 \geq \alpha_1 \geq 1$ and $\alpha_1 \neq t$, and also by applying Lemma 2.1 repeatedly to that $A \geq B_{i-1} \geq 0$ with $A > 0$ for $i = 1, 2, \dots, n$, we have

$$B_{i-1} \geq (A^{t_i} \natural_{\frac{\beta_{i-t}}{\alpha_i-t}} B_{i-1}^{\alpha_i})^{\frac{1}{\beta_i}} = B_i$$

for $t \in [0, 1]$, $\beta_i \geq \alpha_i \geq 1$ and $\alpha_i \neq t$, so that

$$A \geq B \geq B_1 \geq \dots \geq B_{n-1} \geq B_n.$$

Hence the proof is complete. \square

Furuta [15] has given an extension of Lemma 2.1 as an application of Theorem D.

THEOREM E. ([15]) *Let $A \geq B \geq 0$ with $A > 0$, $t \in [0, 1]$ and $p_1, p_2, \dots, p_{2n-1}, p_{2n} \geq 1$ for natural number n . Then*

$$\begin{aligned} A \geq B \geq \{A^{\frac{t}{2}} (A^{-\frac{t}{2}} B^{p_1} A^{-\frac{t}{2}})^{p_2} A^{\frac{t}{2}}\}_{q[2]} \geq \dots \geq \\ [A^{\frac{t}{2}} (A^{-\frac{t}{2}} \{A^{\frac{t}{2}} \dots (A^{-\frac{t}{2}} \{A^{\frac{t}{2}} (A^{-\frac{t}{2}} B^{p_1} A^{-\frac{t}{2}})^{p_2} A^{\frac{t}{2}}\}^{p_3} A^{-\frac{t}{2}})^{p_4} \dots A^{\frac{t}{2}}\}^{p_{2n-1}} A^{-\frac{t}{2}})^{p_{2n}} A^{\frac{t}{2}}]_{q[2n]}, \end{aligned}$$

where

$$q[2n] = (\{ \cdots (\{ (p_1 - t)p_2 + t \} p_3 - t) p_4 + \cdots + t \} p_{2n-1} - t) p_{2n} + t.$$

We can rewrite Theorem E by putting

$$\beta_0 = 1, \alpha_i = \beta_{i-1} p_{2i-1}, \beta_i = (\alpha_i - t) p_{2i} + t \text{ and } \gamma = r - t \tag{2.2}$$

as follows:

THEOREM E'. *Let $A \geq B \geq 0$ with $A > 0$ and n be a natural number. Then for $t \in [0, 1]$, $\beta_n \geq \alpha_n \geq \beta_{n-1} \geq \alpha_{n-1} \geq \cdots \geq \beta_1 \geq \alpha_1 \geq 1$ and $\alpha_i \neq t$ for $i = 1, 2, \dots, n$,*

$$A \geq B \geq B_1 \geq \cdots \geq B_{n-1} \geq B_n,$$

where $B_0 = B$ and $B_i = (A^t \sharp_{\frac{\beta_i - t}{\alpha_i - t}} B_{i-1}^{\alpha_i})^{\frac{1}{\beta_i}}$.

Therefore we recognize that Theorem 2.2 is a fine extension of Theorem E. More precisely, $\beta_i \geq \alpha_i \geq 1$ in Theorem 2.2 is looser than $\beta_n \geq \alpha_n \geq \beta_{n-1} \geq \alpha_{n-1} \geq \cdots \geq \beta_1 \geq \alpha_1 \geq 1$ in Theorem E.

By using Theorem 2.2, we obtain an improvement of (1.4) in Theorem D and Theorem E. Theorem 2.3 is a satellite form of Theorem D in our sense. Theorem 2.3 leads (1.4) in Theorem D by the same replacement to (2.2).

THEOREM 2.3. *Let $A \geq B \geq 0$ with $A > 0$ and n be a natural number. Then for $t \in [0, 1]$, $\beta_n \geq \alpha_n \geq \beta_{n-1} \geq \alpha_{n-1} \geq \cdots \geq \beta_1 \geq \alpha_1 \geq 1$, $\gamma \geq 0$ and $\alpha_1 \neq t$,*

$$\begin{aligned} A \geq B \geq A^{-\gamma} \sharp_{\frac{1+\gamma}{\alpha_1+\gamma}} B^{\alpha_1} &\geq A^{-\gamma} \sharp_{\frac{1+\gamma}{\beta_1+\gamma}} B_1^{\beta_1} \geq A^{-\gamma} \sharp_{\frac{1+\gamma}{\alpha_2+\gamma}} B_1^{\alpha_2} \geq A^{-\gamma} \sharp_{\frac{1+\gamma}{\beta_2+\gamma}} B_2^{\beta_2} \\ &\geq \cdots \geq A^{-\gamma} \sharp_{\frac{1+\gamma}{\beta_{n-1}+\gamma}} B_{n-1}^{\beta_{n-1}} \geq A^{-\gamma} \sharp_{\frac{1+\gamma}{\alpha_n+\gamma}} B_{n-1}^{\alpha_n} \geq A^{-\gamma} \sharp_{\frac{1+\gamma}{\beta_n+\gamma}} B_n^{\beta_n}, \end{aligned}$$

where $B_0 = B$ and $B_i = (A^t \sharp_{\frac{\beta_i - t}{\alpha_i - t}} B_{i-1}^{\alpha_i})^{\frac{1}{\beta_i}}$.

Proof. Let $\beta_0 = 1$. By Theorem 2.2, $A \geq B_{i-1}$ holds for $i = 1, 2, \dots, n$, so that we have

$$\begin{aligned} &A^{-\gamma} \sharp_{\frac{1+\gamma}{\beta_{i-1}+\gamma}} B_{i-1}^{\beta_{i-1}} \\ &\geq A^{-\gamma} \sharp_{\frac{1+\gamma}{\alpha_i+\gamma}} B_{i-1}^{\alpha_i} && \text{by Theorem B} \\ &\geq A^{-\gamma} \sharp_{\frac{1+\gamma}{\beta_i+\gamma}} (A^t \sharp_{\frac{\beta_i - t}{\alpha_i - t}} B_{i-1}^{\alpha_i}) = A^{-\gamma} \sharp_{\frac{1+\gamma}{\beta_i+\gamma}} B_i^{\beta_i} && \text{by Theorem C} \end{aligned}$$

since $\beta_i \geq \alpha_i \geq \beta_{i-1} \geq 1$. Hence the proof is complete. \square

3. Variant of FGF inequality

In this section, we obtain a variant of FGF inequality by scrutinizing the argument in Section 2.

THEOREM 3.1. *Let $A \geq B \geq 0$ with $A > 0$ and n be a natural number. Then for $t \in [0, 1]$, $\alpha_i \geq 1$, $1 \leq \frac{\beta_i - t}{\alpha_i - t} \leq 2$ and $\alpha_i \neq t$ for $i = 1, 2, \dots, n$,*

$$B_{i-1}^{\beta_i} \geq B_i^{\beta_i},$$

where $B_0 = B$ and $B_i = (A^t \sharp_{\frac{\beta_i - t}{\alpha_i - t}} B_{i-1}^{\alpha_i})^{\frac{1}{\beta_i}}$.

Proof. We may also assume that B is invertible. By Theorem 2.2, $A \geq B_{i-1}$ holds for $i = 1, 2, \dots, n$, so that we have

$$\begin{aligned} B_i^{\beta_i} &= A^t \sharp_{\frac{\beta_i - t}{\alpha_i - t}} B_{i-1}^{\alpha_i} = B_{i-1}^{\alpha_i} \sharp_{\frac{\alpha_i - \beta_i}{\alpha_i - t}} A^t = B_{i-1}^{\alpha_i} (B_{i-1}^{-\alpha_i} \sharp_{\frac{\beta_i - \alpha_i}{\alpha_i - t}} A^{-t}) B_{i-1}^{\alpha_i} \\ &\leq B_{i-1}^{\alpha_i} (B_{i-1}^{-\alpha_i} \sharp_{\frac{\beta_i - \alpha_i}{\alpha_i - t}} B_{i-1}^{-t}) B_{i-1}^{\alpha_i} = B_{i-1}^{\beta_i} \end{aligned}$$

since $1 \leq \frac{\beta_i - t}{\alpha_i - t} \leq 2$ and $t \in [0, 1]$. Hence the proof is complete. \square

THEOREM 3.2. *Let $A \geq B \geq 0$ with $A > 0$ and n be a natural number. Then for $t \in [0, 1]$, $\alpha_i \geq 1$, $\beta_n \geq \dots \geq \beta_2 \geq \beta_1 \geq 1$, $1 \leq \frac{\beta_i - t}{\alpha_i - t} \leq 2$, $\gamma \geq 0$ and $\alpha_i \neq t$ for $i = 1, 2, \dots, n$,*

$$\begin{aligned} A \geq B &\geq A^{-\gamma} \sharp_{\frac{1+\gamma}{\beta_1+\gamma}} B^{\beta_1} \geq A^{-\gamma} \sharp_{\frac{1+\gamma}{\beta_1+\gamma}} B_1^{\beta_1} \geq A^{-\gamma} \sharp_{\frac{1+\gamma}{\beta_2+\gamma}} B_1^{\beta_2} \geq A^{-\gamma} \sharp_{\frac{1+\gamma}{\beta_2+\gamma}} B_2^{\beta_2} \\ &\geq \dots \geq A^{-\gamma} \sharp_{\frac{1+\gamma}{\beta_{n-1}+\gamma}} B_{n-1}^{\beta_{n-1}} \geq A^{-\gamma} \sharp_{\frac{1+\gamma}{\beta_n+\gamma}} B_{n-1}^{\beta_n} \geq A^{-\gamma} \sharp_{\frac{1+\gamma}{\beta_n+\gamma}} B_n^{\beta_n}, \end{aligned}$$

where $B_0 = B$ and $B_i = (A^t \sharp_{\frac{\beta_i - t}{\alpha_i - t}} B_{i-1}^{\alpha_i})^{\frac{1}{\beta_i}}$.

Proof. Let $\beta_0 = 1$. By Theorems 2.2 and 3.1, $A \geq B_{i-1}$ and $B_{i-1}^{\beta_i} \geq B_i^{\beta_i}$ for $i = 1, \dots, n$. Then we have

$$\begin{aligned} A^{-\gamma} \sharp_{\frac{1+\gamma}{\beta_{i-1}+\gamma}} B_{i-1}^{\beta_{i-1}} &\geq A^{-\gamma} \sharp_{\frac{1+\gamma}{\beta_i+\gamma}} B_{i-1}^{\beta_i} \quad \text{by Theorem B since } \beta_i \geq \beta_{i-1} \\ &\geq A^{-\gamma} \sharp_{\frac{1+\gamma}{\beta_i+\gamma}} B_i^{\beta_i}, \end{aligned}$$

so that the proof is complete. \square

REMARK. By Theorem 3.1, $B_{i-1}^{\beta_i} \geq B_i^{\beta_i}$ by putting $\beta_i = \beta$ and $\alpha_i = p$ for $i = 1, 2, \dots, n$, so we can obviously get a basis of this argument as follows: Let $A \geq B \geq 0$

with $A > 0$ and n be a natural number. Then for $t \in [0, 1]$, $p \geq 1$, $1 \leq \frac{\beta-t}{p-t} \leq 2$, $\gamma \geq 0$ and $p \neq t$.

$$\begin{aligned} A \geq B &\geq A^{-\gamma} \#_{\frac{1+\gamma}{\beta+\gamma}} (A^t \natural_{\frac{\beta-t}{p-t}} B^p) \geq A^{-\gamma} \#_{\frac{1+\gamma}{\beta+\gamma}} (A^t \natural_{\frac{\beta-t}{p-t}} B_1^p) \\ &\geq \dots \geq A^{-\gamma} \#_{\frac{1+\gamma}{\beta+\gamma}} (A^t \natural_{\frac{\beta-t}{p-t}} B_n^p). \end{aligned}$$

where $B_0 = B$ and $B_i = (A^t \natural_{\frac{\beta-t}{p-t}} B_{i-1}^p)^{\frac{1}{\beta}}$ for $i = 1, 2, \dots, n$.

4. FGF-type operator function

Here, we attempt to trace a proof of grand Furuta inequality from the viewpoint of a sequence $\{B_i\}$ such that $B_i = (A^t \natural_{\frac{\beta-t}{p-t}} B^p)^{\frac{1}{\beta_i}}$.

THEOREM 4.1. *Let $A \geq B \geq 0$ with $A > 0$, $t \in [0, 1]$, $p \geq 1$ with $p \neq t$ and $\gamma \geq 0$. Then*

$$\hat{F}(\beta) = A^{-\gamma} \#_{\frac{1+\gamma}{\beta+\gamma}} (A^t \natural_{\frac{\beta-t}{p-t}} B^p) \tag{4.1}$$

is decreasing for $\beta \geq p$.

Proof. Let n and m be natural numbers such that $n < m$ and $\beta' \geq \beta \geq p$. For $i = 1, 2, \dots, n, n+1, \dots, m$, divide $[p, \beta]$ into $p = \beta_0 \leq \beta_1 \leq \dots \leq \beta_n = \beta$ and $[\beta, \beta']$ into $\beta = \beta_n \leq \beta_{n+1} \leq \dots \leq \beta_m = \beta'$ such that $1 \leq \frac{\beta_i-t}{\beta_{i-1}-t} \leq 2$, and let $B_i = (A^t \natural_{\frac{\beta_i-t}{p-t}} B^p)^{\frac{1}{\beta_i}}$. Then, by (2.1) in the proof of Lemma 2.1,

$$\begin{aligned} B_{i-1}^{\beta_i} &\geq B_i^{\beta_i} \text{ for } i = 1, 2, \dots, n, n+1, \dots, m \\ \text{and } A \geq B &\geq B_1 \geq \dots \geq B_n \geq B_{n+1} \geq \dots \geq B_m. \end{aligned} \tag{4.2}$$

Noting (4.2) and that $\hat{F}(\beta_i) = A^{-\gamma} \#_{\frac{1+\gamma}{\beta_i+\gamma}} (A^t \natural_{\frac{\beta_i-t}{p-t}} B^p) = A^{-\gamma} \#_{\frac{1+\gamma}{\beta_i+\gamma}} B_i^{\beta_i}$, we have

$$\begin{aligned} \hat{F}(\beta_{i-1}) &= A^{-\gamma} \#_{\frac{1+\gamma}{\beta_{i-1}+\gamma}} B_{i-1}^{\beta_{i-1}} \geq A^{-\gamma} \#_{\frac{1+\gamma}{\beta_i+\gamma}} B_{i-1}^{\beta_i} \text{ by Theorem B since } \beta_i \geq \beta_{i-1} \\ &\geq A^{-\gamma} \#_{\frac{1+\gamma}{\beta_i+\gamma}} B_i^{\beta_i} = \hat{F}(\beta_i) \end{aligned}$$

for $i = n+1, \dots, m$. Therefore we get $\hat{F}(\beta) = \hat{F}(\beta_n) \geq \hat{F}(\beta_{n+1}) \geq \dots \geq \hat{F}(\beta_m) = \hat{F}(\beta')$, so that the proof is complete. \square

We remark that (4.1) is also decreasing for $\gamma \geq 0$ by Theorem B since $A \geq B \geq 0$ with $A > 0$ ensures $A \geq (A^t \natural_{\frac{\beta-t}{p-t}} B^p)^{\frac{1}{\beta}}$ by Lemma 2.1, so Theorem 4.1 is Theorem C by putting $\beta = (p-t)s + t$ and $\gamma = r - t$.

REMARK. Theorem 3.2 ensures Theorem 4.1 by putting $\alpha_1 = p \geq 1$ and $\alpha_i = \beta_{i-1}$ for $i = 2, 3, \dots, n$ since

$$\begin{aligned} B_i &= (A^t \natural_{\beta_{i-1}-t} B_{i-1}^{\beta_{i-1}})^{\frac{1}{\beta_i}} = (A^t \natural_{\beta_{i-1}-t} (A^t \natural_{\beta_{i-1}-t} B_{i-2}^{\beta_{i-2}}))^{\frac{1}{\beta_i}} = (A^t \natural_{\beta_{i-2}-t} B_{i-2}^{\beta_{i-2}})^{\frac{1}{\beta_i}} \\ &= \dots = (A^t \natural_{\beta_1-t} B_1^{\beta_1})^{\frac{1}{\beta_i}} = (A^t \natural_{p-t} B^p)^{\frac{1}{\beta_i}}. \end{aligned}$$

By applying Theorem 4.1 to Theorem 2.2, we can reform Theorem D immediately.

THEOREM 4.2. *Let $A \geq B \geq 0$ with $A > 0$ and n be a natural number. Then for $t \in [0, 1]$, $\beta_i \geq \alpha_i \geq 1$ for $i = 1, 2, \dots, n-1$, $\alpha_n \geq 1$, $\gamma \geq 0$ and $\alpha_i \neq t$ for $i = 1, 2, \dots, n$,*

$$\hat{G}(\beta_n) = A^{-\gamma} \natural_{\frac{1+\gamma}{\beta_n+\gamma}} (A^t \natural_{\frac{\beta_n-t}{\alpha_n-t}} B_{n-1}^{\alpha_n}) \tag{4.3}$$

is decreasing for $\beta_n \geq \alpha_n$, where $B_0 = B$ and $B_i = (A^t \natural_{\frac{\beta_i-t}{\alpha_i-t}} B_{i-1}^{\alpha_i})^{\frac{1}{\beta_i}}$.

Proof. By Theorem 2.2, $A \geq B_{i-1}$ holds for $i = 1, 2, \dots, n$, so that we have Theorem 4.2 immediately by Theorem 4.1. \square

(4.3) is also decreasing for $\gamma \geq 0$ by Theorem B since $A \geq B \geq 0$ with $A > 0$ ensures $A \geq B_n = (A^t \natural_{\frac{\beta_n-t}{\alpha_n-t}} B_{n-1}^{\alpha_n})^{\frac{1}{\beta_n}}$ by Theorem 2.2. Therefore, similarly to Theorem 2.2, we recognize that Theorem 4.2 is a slight extension of (1.3) in Theorem D.

Acknowledgement. The authors would like to express their cordial thanks to the referee for his kind comments.

REFERENCES

- [1] T. ANDO AND F. HIAI, *Log majorization and complementary Golden-Thompson type inequalities*, Linear Algebra Appl., **197, 198** (1994), 113–131.
- [2] M. FUJII, *Furuta's inequality and its mean theoretic approach*, J. Operator Theory, **23** (1990), 67–72.
- [3] M. FUJII, T. FURUTA AND E. KAMEI, *Furuta's inequality and its application to Ando's theorem*, Linear Algebra Appl., **179** (1993), 161–169.
- [4] M. FUJII, M. ITO, E. KAMEI AND A. MATSUMOTO, *Operator inequalities related to Ando-Hiai inequality*, to appear in Sci. Math. Jpn.
- [5] M. FUJII AND E. KAMEI, *Mean theoretic approach to the grand Furuta inequality*, Proc. Amer. Math. Soc., **124** (1996), 2751–2756.
- [6] M. FUJII AND E. KAMEI, *Ando-Hiai inequality and Furuta inequality*, Linear Algebra Appl., **416** (2006), 541–545.
- [7] M. FUJII, A. MATSUMOTO AND R. NAKAMOTO, *A short proof of the best possibility for the grand Furuta inequality*, J. Inequal. Appl., **4** (1999), 339–344.
- [8] T. FURUTA, *$A \geq B \geq 0$ assures $(B^r A^p B^r)^{1/q} \geq B^{(p+2r)/q}$ for $r \geq 0, p \geq 0, q \geq 1$ with $(1+2r)q \geq p+2r$* , Proc. Amer. Math. Soc., **101** (1987), 85–88.
- [9] T. FURUTA, *An elementary proof of an order preserving inequality*, Proc. Japan Acad. Ser. A Math. Sci., **65** (1989), 126.
- [10] T. FURUTA, *Extension of the Furuta inequality and Ando-Hiai log-majorization*, Linear Algebra Appl., **219** (1995), 139–155.

- [11] T. FURUTA, *Simplified proof of an order preserving operator inequality*, Proc. Japan Acad. Ser. A Math. Sci., **74** (1998), 114.
- [12] T. FURUTA, *Invitation to Linear Operators*, Taylor & Francis, London, 2001.
- [13] T. FURUTA, *Monotonicity of order preserving operator functions*, Linear Algebra Appl., **428** (2008), 1072–1082.
- [14] T. FURUTA, *Further extension of an order preserving operator inequality*, J. Math. Inequal., **2** (2008), 465–472.
- [15] T. FURUTA, *Operator function associated with an order preserving operator inequality*, J. Math. Inequal., **3** (2009), 21–29.
- [16] M. ITO AND E. KAMEI, *A complement to monotonicity of generalized Furuta-type operator functions*, Linear Algebra Appl., **430** (2009), 544–546.
- [17] M. ITO AND E. KAMEI, *Ando-Hiai inequality and a generalized Furuta-type operator function*, Sci. Math. Jpn., **70** (2009), 43–52.
- [18] E. KAMEI, *A satellite to Furuta's inequality*, Math. Japon., **33** (1988), 883–886.
- [19] F. KUBO AND T. ANDO, *Means of positive linear operators*, Math. Ann., **246** (1980), 205–224.
- [20] K. TANAHASHI, *Best possibility of the Furuta inequality*, Proc. Amer. Math. Soc., **124** (1996), 141–146.
- [21] K. TANAHASHI, *The best possibility of the grand Furuta inequality*, Proc. Amer. Math. Soc., **128** (2000), 511–519.
- [22] T. YAMAZAKI, *Simplified proof of Tanahashi's result on the best possibility of generalized Furuta inequality*, Math. Inequal. Appl., **2** (1999), 473–477.
- [23] J. YUAN AND Z. GAO, *Classified construction of generalized Furuta type operator functions*, Math. Inequal. Appl., **11** (2008), 189–202.

(Received June 14, 2009)

Masatoshi Ito

Maebashi Institute of Technology
460-1 Kamisadorimachi, Maebashi
Gunma 371-0816, JAPAN
e-mail: m-ito@maebashi-it.ac.jp

Eizaburo Kamei

Maebashi Institute of Technology
460-1 Kamisadorimachi, Maebashi
Gunma 371-0816, JAPAN
e-mail: kamei@maebashi-it.ac.jp